. @AvILO




table solutions of your living spaces

T ;LIT I_lTI T F

T Ty
.Ll T |: T LT T -



- e - - -
e = ] =l E L
__.u-._..ql.l."__.lu“ _" ..II.L o s

e - =

= - — re— G — i p— - -

e

-

: ' i [ .-.rl.l.

e ....ﬁa__
A i Nl et 3
i.._i..-”dﬂ...tuﬂd.._lq.u.lmhh1
L.u_ .1..;” ._.I_,q .ﬁ.ﬂ I.-J- v

& 1AWy

L e A L e e T

Y o

o o
! J._.-_._... ) b . v
iy gl g

s ad s




= _ ™ -. m.‘ 8
W L W T
N0 Y il 2 m_m....__l. _w.._-_F.r_.ﬂ.......__.
- B Pt 18 n AR
IT...__.'ﬂ..._--.‘ F. " *lhﬂ.r.n_. E = ._-..r.n_.
- ] - % ’

A s

i
.- :Eﬁ _.:'".

[

W L

-
.p‘_l
&

2
'..-".i' -

4

s
.
2

=5

' .1“1.,.r-l

- 4 »







= ¥ [ -
- - F S - - = - - = -
- - — & _— - - B

03

- - == - - - -
= Lt e R - - -
I s T L - — . = E - = - - = - = =
e - - - - - - _— - - k- — - - T
i = - = = = - . = &
- - e = - 5
5 ‘_.' - B —" . - - = ;s - = = — - - E - - .
[ e = - - < . — - - il - - - 4 - - - - - - .- - = 4 - -
= = - ] =] - - - = - - - - =
: e - — - _— iy e - - E i ; - ; H = |- = C n ¥
i i l " ] ] U | i ' | I ] I || I i [ i
' | i [ | || .
| | |
| | | |
| | | l I | r |
I | 1 i i 1 i o | | |
r ¥ 5 = g = -y -

38 VR 70x70
morpho 3190 - tinto ral 9005 40x40x73



y T
il i““' H‘u W Y WA Y W\

Al ”. | ) u' r‘* "
TR

|

I lltuuilu.
ﬂ

it

Tl ] *“lh} "'irl_ .-" “ H NN
|

lq

g D
J'rl'flhilil“'! .,H:'“Jul) iill lllﬂ N ll
I .|- |
MG Ay 4-“ i i
[ | I | T [
o I L
04 | a.lin.,th.jn I' ' i -i l | l ' | | |

iI. H'nl"'llli III \
(RELTIA LRI RTRLARIA

1
I f !
!
|
; | |

38 VR @70
Inox-inox polished @40x73

VIDIO



pallet/KG

ASSEMBLY SUGGESTIONS FOR TAVILO vipro TABLE TOP

VIPRO Table Top
Special Glue
Waterproof Plywood
YHB M6x25 Bolt

M6 Steel Insert

Table-Leg Assembly Element 3mm. Flange
AB Bolt

specifications

code suggestions

(19 Thickness Model @ Dimension

usage alreas

@ IS0 - It can be applied at different dimensions and colors depends on required project.

- Just due to possibility of color change, dark colors are not being suggested for using under direct sunlight.

arrington

< [~ | =y Ve
T“v H;H:i;lm WARRES No. 130478

Gentas Laminates
com ith the
ﬂnmmﬂ of EN-438 TUV Rheinland Group  5ugmes o1 10002870

: Part 7:
Method For Classification Of The Surfoce
Sprend Of Flome Of Products







07

60 MR 70x70 SQ 4290
proleg 01 4290-inox satin 40x40x73



08

MOrpnNo

.l_

rPF

1M

ﬂ

A e ——

ll
=

—r

'FF 1“|--I

II

I

\." .m\

TeAY

I _.__'.._J‘._._

"fl"n
\h \ g\

! "
I g

. LII. |

I

i I*’,

L\ \
| 04y
| R I*--I.l'.... li...

)

12 MR 80x80 SQ 4267
proleg 01 4267-inox polished 40x40x73









48 MR 70x70 W 4267

24 MR 70x70 W 4290

48 MR 80x80 SQ 4290

|
i

e I .

— S ——

BUCKS COFIFJEE
















g ¥

36 mm. 48 mm. oy

UNI | WOOD SQUARE WOOD SQUARE WOOD SQUARE WOOD SQUARE I WOOD SQUARE
CLY (W) Gle) ( (W) (SQ) ( (W) (SQ) ( (W) (SQ) ( (W) Gle)

pcs/KG | pallet pcs/KG

12 mm. C— 24 mm. Cr 60 mm.

Morpno
(MR)

pallet pallet

pcs/KG pallet

pallet/KG

pcs/KG pallet/KG & pcs/KG pallet/KG pallet/KG pallet/KG

PCS

PCS

PCS

PCS

100

50

15,43

@ 28,74

100

677

14,70

16,82

100

700

17,28

@ 31,49

100

50

782

17,68

35

19,37

90

50

796

16,79

80

946

20,62

35

50

1.016

70

50

35

27,49

23,62 x27,55"

95
100

70

40
50

1,066

621

13,01

35

14,56

23,62"x31,49"

100

70

50

693

14,56

35

16,24

27,55"x31,49"

80

50

/84

16,51

35

18,31

31,49"x35,43"

60

50

968

20,41

35

22 44

69x110

27,16"x43,30"

60

50

007

21,51

35

23,65

69x120

27,16"x47,24"

90

50

1.098

23,24

35

295,50

69x129

27,16"x50,78"

50

40

946

24,80

39

2717

75x110

29,562"x43,30"

50

50

1.090

23,04

35

25,25

80x100

31,49"x39,37"

40

40

1.130

29,66

35

32,26

80x120

31,497x47,24"

50

50

1.089

22,36

35

24,57

80x129

31,49"x50,78"

45

40

1.003

26,26

35

28,65

80x139

31,49"x54,72"

45

40

1.076

28,21

39

30,72

90x139

3543 x54.72"

35

30

959

33,09

30

35,83

90x150

35,43”"x59,00"

35

30

1.026

35,46

30

38,32

90x160

35,43"x62,99"

30

30

1.087

37,61

25

40,59




ASSEMBLY SUGGESTIONS FOR TAVILO morpho TABLE TOP

specifications

code suggestions

colors

usage areas

(D Indoor

MORPHO Table Top

Special Glue

Waterproof Plywood

YHB M6x25 Bolt

M6 Steel Insert

Table-Leg Assembly Element 3mm. Flange

AB Bolt

B e

@Thickness (’J@ Model @Dlmensmn ‘Surfaoe (55 Color

3106 4236 426/ 4290

- It can be applied at different dimensions and colors depends on required project.

- Just due to possibility of color change, dark colors are not being suggested for using under direct sunlight.

Wﬂn
T ﬂ
A W ?%
@ =il CERES resé
Gentag Laminates DIN EN 150 9001:2000 WARRES No. 130478
2 mﬂgﬂ;ﬂﬂ:ﬂ TUV Rheinland Emup i > BS 4?&5 Part 7: 1997
ema 3 Mathod For Classification Of The Surfaca
Spread OF Flome Of Products







36 MT 69x120 3126
proleg 01 3126-Inox satin 96x40x73



T 12 MT 80x80 3138
multino-multino 3138 40x40x73




60 MT 80x80 3146

48 MT 80x80 3135

12 MT @70 3128

i



94x94

100x100
110x110

@ 60
@ 64
@ 69
D73
D 75
@& 80
& 85
© 90
@ 94
2100
@110
60x70
00x80
70x80
80x90
69x110
69x120
69x129
75x110
80x100
80x120
80x129
80x139
90x139
90x150
90x160

Inch
23,62°%x23,62"
25,20 %25, 20"
27.716" %27 16"
28,74"x28,74"
29,92"'%29,52"
31,49"x31,49"
33,46"x33,46"
35,43"%35,43"
37,00"x37,00
39,37"%39,37"
43,30"x43,30"

@ 23,62"

@ 25,20"

@ 27,16"

@ 28,74"

@ 29,52"

@ 31,49"

@ 33,46"

@ 35,43"

@ 37,00”

@ 39,37

@ 43,30"
23,62 %27.55"
23,62"x31,49"
27,55"x31,49"
31,49"x35,43"
27,16"x43,30"
27,16"x47,24"
27,16"x50,78"
29,52"x43,30"
31,49"x39,37"
31,49"x47,24"
31,49"x50,78"
31,497°x54,72"
35,43"x54,72"
35,43"x59,00"
39,43 "'x62,99"

6,60
7,50
8,72
9,76
10,31
11,73
13,24
14,84
16,19
18,32
2217
5,18
5,89
6,85
7,66
8,09
9,21
10,39
11,65
12,71
14,38
17,40
7,70
8,79
10,26
13,19
13,91
15,17
16,3
15,12
14,66
17,59
19,06
20,12
22 92
24,74
26,38

pallet
PCS

100
100
100
100
100
80
75
65
60
55
45
100
100
100
100
100
100
90
80
75
70
55
100
100
90
70
70
60
55
60
60
50
50
50
40
40
35

pallet/KG

690
780
940
1040
1085
1000
1060
1015
1030
1065
1060
580
035
735
835
870
990
1035
1010
1020
1060
1035
845
945
990
990
1040
975
990
875

950
945
1020
1060
985
1050
990

pcs/KG

7,92

8,91
10,24
11,37
11,96
13,49
ST
16,82
18,26
20,52
24,59

6,76

[,99

8,69

0,62
10,05
11,36
12,08
14,10
15,27
17,12
20,42

9,12
10,33
11,91
15,06
12,61
17529
18,49
17,15
106,64
19,79
21,36
22,52
25,44
21,37
29,13

pallet
PCS

70
70
70
70
70
60
60
55
50
45
40
70
70
70
70
70
70
70
70
60
55
45
70
70
80
60
60
55
50
50
50
45
45
40
35
35
35

pallet/KG

580
660
765
840
890
880
975
O
965
990
1045
825
Das
665
735
770
840
920
1050
980
1010
990
710
815
1020
980
1000
1020
990
925
900
945
940
965
985
1030
1070

pcs/KG

9,23
10,32
11,76
12,97
13,60
17,20
16,98
18,80
20,32
22,12
27,01

8,34

9,29
10,53
11,58
12,00
13,52
13,77
16,54
17,83
19,869
23,44
10,55
11,87
13,56
16,93
17,84
19,33

20,66

19,18
18,62

2199

23,67
24,91
27,96
30,01
31,88

pallet
PCS

50,00
50,00
50,00
50,00
50,00
50,00
50,00
50,00
45,00
45,00
35,00
50,00
50,00
50,00
50,00
50,00
50,00
50,00
50,00
50,00
50,00
40,00
50,00
50,00
50,00
50,00
50,00
50,00
40,00
50,00
50,00
50,00
40,00
40,00
30,00
30,00
30,00

pallet/KG

500,00
550,00
630,00
695,00
740,00
890,00
945,00
990,00
965,00

1.075,00
1.010,00

460,00
510,00
535,00
635,00
670,00
745,00
760,00
890,00
945,00

1.040,00
1.010,00

600,00
650,00
745,00

900.00

945,00

1.040,00

990,00

1.030,00

990,00

990,00
1.010,00
1.040,00

890,00
900,00

1.010,00

pcs/KG l%aggt pallet/KG
10,55 35 400
11,03 39 450
13,27 35 500
14,58 39 560
15.25 35 585
17,00 30 650
18,84 35 705
20,78 35 780
22,39 35 835
24,92 35 920
29,43 35 975
9,92 35 380
10,98 35 420
12.37 35 485
13,53 35 525
13,96 35 560
15,68 35 590
15,46 35 605
18,99 35 liaLs
20,39 35 780
22,58 35 850
26,47 35 990
11,98 35 470
13,41 35 530
15 21 35 590
18,80 35 710
19,81 35 750
21,40 35 800
22,84 35 850
21,22 35 790
20,59 35 780
2419 35 895
25,98 35 965
27,31 35 1010
30,47 30 980
32,65 30 1030
34,63 25 930

pcs/KG

11,87
13,13
13,27
16,18
16,90
18,76
20,71
22,76
24,46
20,12
31,84
11,51
12,68
14,21
15,49
1991
17,84
17,15
21,43
22.95
25,31
29,49
13,41
14,95
16,80
20,67
21,78
23,48
25,02
23,25
22,97
26,38
28,29
29,71
32 99
35,29
37,38

pallet
PCS

30
30
30
30
30
30
30
30
30
30
30
30
30
30
30
30
30
30
30
30
30
30
30
30
30
30
30
30
30
30
30
30
30
30
30
25
25

pncs/KG pallet/KG

375,00
425,00
440,00
530,00
565,00
615,00
665,00
740,00
795,00
870,00

1.005,00

380,00
425,00
465,00
510,00
545,00
580,00
570,00
685,00
740,00
820,00
950,00
465,00
495,00
545,00
675,00
700,00
765,00
765,00
760,00
690,00
855,00
860,00
950,00

1.040,00

940,00

1.000,00



ASSEMBLY SUGGESTIONS FOR TAVILO multino TABLE TOP

MULTINQO Table Top
Special Glue
Waterproof Plywood
YHB M6x25 Bolt

M6 Steel Insert

Table-Leg Assembly Element 3mm. Flange

AB Bolt

specifications

code suggestions

colors

3128 3138 3126 3145

usage areas

(D Indoor-Outdoor

J \
(1) Thickness é Model % Dimen

sion Color

3146

- It can be applied at different dimensions and colors depends on required project.

- Just due to possibility of color change, dark colors are not being suggested for using under direct sunlight.

&

Gentas Laminates
comply with the
demands of EN-438

TUV Rheinland Group mu:r::n

qov

arrington

WETRE

WARRES No. 130478
BS 476: Part 7: 1997
Method For Clossification Of The Surface
Spread OF Flome Of Products

3135






T 36 FT 80x80 W 4454 MS 02 4452
proleg 01 4454-inox satin 40x40x73 steel polished chrome









[ R
_— !
y

R T b
1T

-
r &

-

).

# o 1

gl ST
%
'I:Ii:" |.'-

PR s e
y

-tl:--":-'."

M~

. h; ! LE:-:'&"

-
¥
; wLEN




24 FT 70x70 UN 3103

36 FT 80x80 W 4454

g
-

L

N r-ll'. ] .I
Y " .

.L_.‘

: |

a
p—
&l
- -
as
m
u-‘*"_i-.

!

29






—

J

|

i,

J!J
144

-'\-_'.a-.-"#'-'r-'i.l
i W !

1

i
: =
. ¥ ’




32







g
D
—
O
O




I

36 FTC 01 90x160 W 4236
proleg 02-fitto crea 01 4236 46x126x73

y .._/M I

””\A\\\

12 FTC 02 80x80 W 4274

36 FTC 01 90x90 W 4236

35



[locrea

=

36 FTC 01 90x90 W 4236
proleg 02-fitto crea 01 4236 50x50x73



12 FTC 03 ©70 UN 3146

12 FTC 04 @70 W 4290/4236




)

- - pcs/KG FE%%T pallet/KG l| pcs/KG li;aggt pallet/KG || pcs/KG FE%%T pallet/KG | pcs/KG F;aggt pallet/KG | pcs/KG F;aggt pallet/KG
g o060 2362%2362 660 100 690 792 70 580 923 5000 50000 1055 @ 35 400 1187 30 375,00
64x64 2520°x2520" 750 100 780 891 70 660 1032 50,00 55000 1173 35 450 1313 30 42500
69x69 27,16"x27,16" 872 100 940 1024 70 765 1176 50,00 63000 1327 35 500 1327 30 440,00
73x73  28,74°x28,74" 976 100 1040 1137 70 840 1297 50,00 69500 1458 35 560 16,18 30 530,00
75x75  29.52'x29.52" 1031 100 1085 {198 70 800 1360 50,00 74000 1525 35 585 1690 30 565,00
80x80 3149'x31,49" 1173 80 1000 1349 60 880 1720 5000 89000 17,00 35 650 1876 30 615,00
85x85 33,46'x33,46" 1324 75 1060 1511 60 975 1698 5000 94500 1884 35 705 2071 30 665,00
00x90 3543°x3543" 1484 65 1015 1682 55 975 1880 50,00 990,00 20,78 35 780 2276 30 740,00
04x94 37,00°x37,00° 1619 60 1030 1826 50 965 2032 4500 96500 2239 35 835 2446 30 795,00
100x100 39,37'x39,37" 1832 55 1065 2052 45 990 2272 4500 1.07500 2492 35 920 2712 30 870,00
110x110 43,30°x43,30" 2217 45 1060 2459 40 1045 27,01 3500 101000 2943 35 975 31,84 30  1.005,00
@ 2% o 518 100 580 | 676 70 505 | 834 5000 46000 992 35 380 | 1151 30 380,00
364  @2520" 589 100 635 = 750 70 505 = 929 50,00 51000 1098 35 420 @ 1268 30 42500
369 @276 6,85 100 735 869 70 665 @ 1053 50,00 58500 1237 35 485 1421 30 465,00
273  ©2874" 766 100 835 = 962 70 735 ~ 1158 50,00 63500 1353 35 505 1549 30 510,00
375  ©2952" 809 100 870 10,05 70 770 | 12,00 50,00 67000 1396 35 560 @ 1591 30 545,00
380  @3149" 921 100 990 | 1136 70 840 | 1352 50,00 74500 1568 35 500 « 1784 30 580,00
85  @3346" | 1039 90 1035 | 1208 70 020 | 1377 50,00 76000 1546 35 605 = 1715 30 570,00
@90 @3543 1165 80 1010 = 1410 70 1050 . 1654 50,00 890,00 1899 35 715 | 2143 30 685,00
94  @37,00" 1271 75 1020 | 1527 60 080 = 1783 50,00 94500 2039 35 780 | 2295 30 740,00
@100 @ 39,37" 1438 70 1060 ~ 1712 55 1010 19,85 50,00 1.040,00 2258 35 850 = 2531 30 820,00
110 @ 43,30" 1740 55 1035 | 2042 45 000 2344 40,00 101000 2647 35 990 2949 30 950,00
60x70 | 23,62'x27,55" | 7,70 = 100 845 | 912 70 710 | 1055 50,00 @ 60000 1198 35 470 | 1341 = 30 | 465,00
l BOX80 | 23,62°x3149" | 879 100 945 | 1033 70 815 | 1187 5000 @ 65000 1341 @ 35 | 530 | 1495 30 | 49500
70x80  27.55'x3149" | 1026 = 90 = 990 | 1191 = 80 | 1020 | 1356 @ 50,00 745001 1521 35 | 500 | 1686 30 | 54500
80x90 | 3149°x3543" | 1319 = 70 990 | 1506 60 080 | 1693 50,00 900,00/ 1880 @ 35 710 || 2067 | 30 | 675,00
69x110  27.16°x4330" | 1391 = 70 | 1040 | 1587 = 60 | 1000 | 17.84 50,00 94500 1981 35 750 | 2178 = 30 | 700,00
69x120 | 27.16"x47.24" | 1517 = 60 975 | 1725 55 | 1020 | 19,33 @ 50,00 1.040,00 2140 35 800 | 2348 @ 30 | 765,00
69x129  27.16"x50,78" | 1631 = 55 990 | 1849 @ 50 090 | 2066 4000 990,00/ 2284 @ 35 850 | 2502 30 | 765,00
75x110 | 29.52°x43.30" | 1512 = 60 975 | 1715 50 925 | 1918 50,00 1.03000 2122 35 790 | 2325 = 30 | 760,00
80x100 | 31,49°x39,37" | 1466 60 950 | 16,64 @ 50 000 | 1862 50,00 = 99000/ 2059 @ 35 780 | 2257 @ 30 | 690,00
80x120 | 31.49°x47.24” | 1759 @ 50 045 | 19,79 = 45 045 | 2199 50,00 99000/ 2419 @ 35 895 | 2638 30 | 85500
80x129 | 3149°x50,78" | 1906 50 | 1020 | 2136 = 45 040 | 2367 4000 101000/ 2598 35 065 | 2829 30 | 860,00
80x130  3149°x54,72" | 2012 = 50 | 1060 | 2252 40 065 | 2491 40,00 104000 2731 = 85 | 1010 | 2971 = 30 | 950,00
00x139 | 3543'x54.72" | 22092 40 085 | 2544 35 055 | 2796 @ 30,00 89000/ 3047 & 30 080 | 3299 30 1.040,00
00x150  3543°x59.00" | 2474 40 | 1050 | 2737 35 | 1030 | 30,01 30,00 900,00 3265 30 | 1030 | 3529 25 940,00
00x160  3543'x62,99" | 2638 = 35 090 | 2913 = 35 | 1070 | 3188 30,00 1.01000 3463 25 030 | 3738 @ 25 1.000,00



ASSEMBLY SUGGESTIONS FOR TAVILO fitto TABLE TOP

FITTO Table Top

Special Glue

Waterproof Plywood

YHB M6x25 Bolt

M6 Steel Insert

Table-Leg Assembly Element 3mm. Flange
AB Bolt

specifications

code suggestions . ﬁ 80x80 . -

@ Thickness éModel @Dlmensmn ‘Surface éColor

3106 3146 4454 4236 4274 4290

colors

usage areas

(D Indoor-Outdoor

- It can be applied at different dimensions and colors depends on required project.

- Just due to possibility of color change, dark colors are not being suggested for using under direct sunlight.

an
18 T s ),
i ( .;| = L':Jf|_ LA
TUOV SR

Ganﬂ Laminates DIN EN IS0 9001:2000
S i TUV Rheinland Group zogme.o1 o ocso

arrington

TV VETRY

WARRES No. 130478
BS 476: Part 7: 1997
Method For Classification Of The Surface
Spread OF Flome Of Products







4Ir
-

80 NT 80x80 UN 3106

inox-inox polished @40x73



42

Nello

80 NT 70x70 W 4267

80 NT 70x70 SQ 4267









Skl

L Ll
e R Ry T

I |llll::l.‘ 'I" B

45



09,40 X39,4:8
00x100 39.37°x39.37" 28,94

Ty

23,62"'x27,55"

pallet/KG

23,62°x31,49"

27,55"x31,49"

31,49"x35,43"

69x110

27,16"x43,30"

69x120

27,16°x47,24"

69x129

27,16"x50,78"

75x110

29,562"x43,30"

80x100

31,49"x39,37"

80x120

31,49°x47,24"

80x130

31,49"x50,78"

80x139

31,49°x54,72"

90x139

35,43"x54,72"

90x150

35,43"x59,00"

90x160

35,43"x62,99"




ASSEMBLY SUGGESTIONS FOR TAVILO netto TABLE TOP
NETTO Table Top

Waterproof Plywood
Special Glue
Waterproof Plywood
YHB M6x25 Bolt

M6 Steel Insert

Table-Leg Assembly Element 3mm. Flange

AB Bolt

specifications

code suggestions . ﬂ 80x80 . 4267

(1) Thickness é Model @ Dimension ‘ Surface é Color

3103 3106 4385 4267 4290

colors

usage areas

(D Indoor-Outdoor

- It can be applied at different dimensions and colors depends on required project.

- Just due to possibility of color change, dark colors are not being suggested for using under direct sunlight.

arrington

<:> é '|'|"N Fﬂ WFIEH
u.{f: st _jﬁ
Tu‘v Hx Il_| :I|_Ill|-| -.J ) re e
WARRES No. 130478
DIN EN S0 5001:2000 ) BS 476: Part 7: 1997

Gentag Laminates

ity il e TUV Rheinland Group o mac o ssoncasn

Method For Clasification Of The Surace
Spread OF Flome Of Products







49

admitto GL 291-morpho 3139 40x40x73

60 AT 01 80x80 GL 291

_|.



o0

T 36 AT 01 80x80 GL 271
admitto-admitto GL 271 40x40x73

admMmItto
.



80 AT 03 70x70 SL 113/4267

I

80 AT 02 80x80 GL 211/4385
admitto-admiro GL 211/4385 40x40x73

bl



T 60 mm.

admitto
(AT)

pallet/KG

pcs/KG

pallet/KG

7 80 mm.

pallet/KG

Ly TS AL, T
e Al
o R
Y ARYVNND ALY
< 4 L = Al
e E et st B

0 23,62" 20,00 30 640

@ 65 @ 25,59" 23,00 30 730
@70 Welos 26,00 30 820
@75 @ 29,52" 29,30 30 919
© 80 @ 31,49" 32,75 30 1022.5
@ 85 0 33,46" 36,50 30 1135
2 90 4 35,43 40,20 25 1045
& 95 @ 37,40" 44 20 25 1145
70x120 | 27.556"x47.24" 48,00 25 1240
I 75x130 | 29.52"%61.18" § 54,25 20 1125
80x120 | 31,49"x47,24" & 53,25 20 1105
80x130 | 31,49°x51,18" § 57,10 20 1182
80x140 | 31,49"x55,11" = 61,00 20 1260

'h- I. [ =
R

.- A

e

32,00
36,90
36,25
39,25
42,20

: = W B . 4 -,-‘,. -- a2 i--‘l u i Il _
g ""'Ilr"‘-'h -y he hrc A |
k| " L] _-I- .‘* Y - - # +
. - -

1 ]

y o .i. y M
¥ "-.-I- = iu_ g
rF e L
da W 3 e |‘l i

29 850
28 973
2D 956
20 1031
295 1105

37,90
43,40
42,60

46,00
49,20




ASSEMBLY SUGGESTIONS FOR TAVILO admitto TABLE TOP

ADMITTO Table Top

Special Glue

Waterproof Plywood

M6 Steel Insert
Table-Leg Assembly Element 3mm. Flange

AB Bolt

specifications

code suggestions

@ Thickness @B Model %85 Dimension Color

SL113/4267 GL211/4385 GL271 GL292 GL291

colors

usage areas

(D Indoor-Outdoor

- It can be applied at different dimensions and colors depends on required project.

- Just due to possibility of color change, dark colors are not being suggested for using under direct sunlight.

" - — ::“::“‘n
| The Fines (.o 3
BSGS  —liNet— I(fq ISSF A N - @ ~ el CERS fé’M
— & Hath I
SGS U.S. Testing Company Inc. IS0 14ﬂﬂ1 9004 ME— Gml:ﬂw TI:I'H' Hh : I d G DIN EN 150 9001:2000 ] ;"rSA'lIR;E? F':3|" ;:3?;;§
, KS A 9001:2001 1SO 8001:2000 [ — NSFS] demands of EN-438 emniand LrouD  gemae ot 100 oazemo Mathod For Classification Of The Surface

Spread OF Flome Of Products






by

40 AR 80x80 SL 113
Inox-inox polished 40x40x73

0O












40 AR 70x70 SL 113

30 AR 70x70 SL 113

60 AR 70x70 SL 113

oY



slelaplife
(AR)

pallet/KG

pallet/KG

pcs/KG

pallet/KG

@75
@ 80
@ 85
© 90
70x120
75x130
80x120
80x130
80x140

@ 25,59"

@ 27,55’

@ 29,52’

@ 31,49’

@ 33,46"

) 35,43"
07,55"x47,24’
29,52"x51,18’
31,49"x47,24’
31,49"x51,18"
31,49"x55,11"




ASSEMBLY SUGGESTIONS FOR TAVILO admiro TABLE TOP

ADMIRO Table Top
Special Glue
Waterproof Plywood

M6 Steel Insert

Table-Leg Assembly Element 3mm. Flange

AB Bolt

specifications

code suggestions

@ Thickness é Model Dimension Color

colors

oL113 1404 P 304 DMS2T Pl 385

usage areas

(D Indoor-Outdoor

- It can be applied at different dimensions and colors depends on required project.

- Just due to possibility of color change, dark colors are not being suggested for using under direct sunlight.

1
.a::::im-'-'::_-n
I‘Q‘ : "-r:h EE L—'.'--*"'I,xJI
{BlElR=

ISSFA N e @ TOV_ e

; e —" | i

. &
@ — ‘*!*i —
PSGS —I.Net
Tl F T AT Pl CUG THAIRATE R BT
|

SGS U.S. Testing Company Inc.







]
i
1 ]

60 MY 02 70x70 3147

60 MY 01 @70 5434

03

slerrea

36 MYC 70x70 TD 46

21 MYC @70 TD 11




pallet/KG B pcs/KG P pallet/KG §| pcs/KG P pallet/KG § pcs/KG P pallet/KG

| 70x120 | 27,55"x47,24” || 11,64 | 65 797 | 1428 = 50 754 | 1691 @ 30 547 | 1691 | 30 547
l 75x130 | 29,52"x51,18” | 1351 = 65 918 | 16,35 50 858 192 | 30 616 = 192 | 30 616
80x120  31,49'x47,24” © 1331 65 905 | 16,08 50 844 | 1885 30 606 = 18,85 @ 30 606
80x130  31,49'x51,18" | 14,41 65 977 | 17,33 50 907 || 2024 @ 30 647 | 2024 | 30 647
80x140 31,49°x55,11” | 1552 = 60 971 | 18,57 50 969 || 2162 30 689 | 2162 | 30 689




ASSEMBLY SUGGESTIONS FOR TAVILO mysto TABLE TOP

MYSTO Special High Pressure Laminate
Waterproof Plywood

Special High Pressure Laminate

M6 Steel Insert

Table-Leg Assembly Element 3mm. Flange
AB Bolt

specifications

code suggestions

Dimension Color

= ] .I
£
= :
s, g
D=l - e Aees
e A - - 3 L e
a4 e ' o <P [y
- = b il S
! g i, T 3 L
- Sl oy s el
I " L .'.l""'l..l"I Ir.'- &
= | Kol
: L . B . B
g P
- B
= (R 3
o A
; il g
. T - . ¥
P e
. A L 2L ", .
; - " L%
R ; ¥ i :_ti = -. eyl
- 5 s iw ¥
-3 o -
3 === - R, i . L
at
:
s
-
|
]
-
|

3147 5434 4234

(1) Thickness

colors

usage areas

(D Indoor-Outdoor

- It can be applied at different dimensions and colors depends on required project.

- Just due to possibility of color change, dark colors are not being suggested for using under direct sunlight.

arrington

© [A W oy Emy
N NE DTS
£ Comg W rese
]

Gentag Laminates WARRES No. 130478

— DIN EN IS0 9001:2000 : )
S oo e TOV Rheinland Group ;osmmue o s pcase B MTF: a;ﬁ;f;‘ {:T'm ;;ﬂ: 7

Spread Of Flome Of Products







PS 74x74 4454

PS 74x74 4236

PS 74x74 4290

PS 065 4241

o/






= -
I*,’;-I'-f'r.‘l,l"l







-._-
| I

| L 23 -q""'ﬂul I = 3 - E;'”':
T E .'I' , i ',. - 1] I-l- 3 I_
.: . H-"._- | I | i j’ e il ] '. i !l"_; i
* 1 3§ 1 Rl e Ha'-j' - Tt

[} '-': . &-‘.

o
= — :
i

LR

5
-
.
-
"




Drotops
(PS)

pallet/KG pcs/KG pallet/KG

Ly = B, e i "o F N ' - L
e S - i Ly ¥ T B T ll':“'—\..-' i o G S,
1 b o L '
e e R —— U U SIS, - - L
T h . i ] ' i 3
= RS )\ B 4 I . T 1 -:a--‘:;. | oy 1I_‘I'|' f Tyt o y T
iR th - . S iy . —= i i M o 1
i : Mt [ et 4 BN R el —r i f
3 Al T Fiu o SO e et T = ult

& 18,89"

@ 22,44"

@ 65

@ 25,59”

4,35

@ 74

@ 29,13"

99

& 83

@ 32,67

6,8

@ 91

(0 35,82"

8,2

@ 100

@ 39,37

9,7

2109

@ 42,91"

11,5

0118

(0 46,45

13,3

@ 126

& 49,60

19,2

D178

@ 70,00

31,85

83x115

32,67"x45,27"

10,5

83x141

32,67"x55,51"

3,3

91x160

35,82"x62,99"

14,5

91x180

35,82"x70,86"

15

100x141

39,37"x55,51"

15,5

109x188

42 91"x74,00”

18,6

118x141

46,45"°x55,51"

20

126x188

49,60"x74,00”

23,2

] ; e S Al e SN Y = AR g -
1 o ! ek
i W s - s e e e e
- v 7L A2 Q1 7vA?2 Q1 "vD0Q K2
o T L ¥ . el | -l _‘-.. At Jﬂﬂ"ﬁ 1 e
s Lo 5. Fr e el oo s ST il et oy il e Lt
35,82 X459, 271" %29.52"
1 : ) : )

Q1x115x75
91x180x75
83x115x75
100x141x75
126x188Xx75

35,82"x70,86"x29,52"
32,67"x45,27"x29,52”
39.37"%55.51"%29,62"
49,60"x74,00"x29,52”

17,90
19,20
16,65
18,80
20,90




ASSEMBLY SUGGESTIONS FOR TAVILO proteak TABLE TOP

Werzalit Building Profile
Special Aluminium Profile
Special Plastic Cornerpiece
Werzalit Building Profile
Werzalit Table Leg

Plastic Base

3mm Metal Sheet
12mm.Transmission Shatft

specifications

code suggestions H 91x91 -

(19)Model @Dlmensmn é} Color

4236 4274 4241 4290

colors

usage areas

(D Indoor-Outdoor

- It can be applied at different dimensions and colors depends on required project.

- Just due to possibility of color change, dark colors are not being suggested for using under direct sunlight.

oV Ce

Ge Warzalit
mﬁmmﬂ DIN EN IS0 9001:2000

s g e TUV Rheinland Group gm0 scaro




